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1.a)7¢=56 b) c¢=8:8comns

2a)x=5 b) x=-2 c)x=4
d)x=—4 e) x=6 f) x=—

3.a)8+3g=29 b) g=7:7 gardens

4a)x=4  b)x=3 ¢) x=7
dr=-7 & x=1  fx=2

5.a)3h+6=3 b) h=-1;-1°C

6.a)p=12 b) 1=-90
c)w=-54 d) e=-88

7. h=14

8.a) L=52  b) f=260:260 fish
4 x

9.
3

10.a) 6x + 54 b) 33-12¢
€)-355+25 d) -12a+8
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8.a) =52  b) f=260; 260 fish
9- 5 . o
:-
10.a) 6x + 54 b) 33 -12¢
€) -355+25 d) -12a+8
11.b) 5t - 20

12.2)x =3 b) b=12 ¢ p=17
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18.a)18 b) 3 c) =52 d) 0

19.2) | » P b) $560
0 | 200 | ¢) 7 memberships
1 | 240
2 | 280
3 | 320
4 | 360
5 | 400
6 | 440
7 | 480
20.a) St pummite  b) When 1 increases by 1,
A p increases by 40.
. c) (5,400)
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22.(-2,9),(-1,8),(0,7),3,4)





